Trillions

[
[=]

=]

Balance Sheet
Total Assets of the Fed

"How many interest rate hikes is quantitative tightening
(QT) equivalent to? ... Based on the model calibrated to fit
the nominal Treasury data between 1999 and 2022, | show
that a passive roll-off of 52.2 trillion over three years is
equivalent to an increase of 25 basis points in the current
federal funds rate at normal times. However, during a crisis
period with risk aversion being doubled, it is equivalent to a
74 basis point increase.”

Atlanta Fed, Report: Quantifying
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